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NO calculator

1. (a) Write 17× 104 in standard form

(a) . . . . . . . . . . . . .

(b) Write 0.62× 10−3 in standard form

(b) . . . . . . . . . . . . .

(c) Write 0.028× 105 in standard form

(c) . . . . . . . . . . . . .

(d) Write 56× 10−7 in standard form

(d) . . . . . . . . . . . . .

(e) Write 3800× 10−7 in standard form

(e) . . . . . . . . . . . . .

(f) Write 7300× 105 in standard form

(f) . . . . . . . . . . . . .

(g) Write 580× 10−5 in standard form

(g) . . . . . . . . . . . . .

(h) Write 0.013× 105 in standard form

(h) . . . . . . . . . . . . .

Answers: a) 1.7× 105 b) 6.2× 10−4 c) 2.8× 103 d) 5.6× 10−6 e) 3.8× 10−4

f) 7.3× 108 g) 5.8× 10−3 h) 1.3× 103
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